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Note : Four possible choices A, B ,C,D to each question are given. Which choice is correct, fill that circle in front of that question
number. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that question.
‘An equation of the type 3+ 32‘)( +6=0 is a/an -QQ.(DJSX + 32')‘ +6=0 ..-:-va'l/J!r
: Reciprocal Equation ..-.-I:W:"‘ (B) Exponential Equation :«hl/{jl/'a; (A) (1)
Linear Equation .:.J;l/ou (D) Radical Equation =l (C)
EProduct of Cube Roots of unity is : 3 (D) -1 (O 1 (B) O (A) : 4_..:,,&_}%(_,,&’1,,;, Lng 2)
q . .;_Jrfs‘zp J:lzo(uju?u:fu)uﬁsz*‘qx+r=0..-:~|1k/'B‘Mﬁé (3)
If ol, P are the roots of equation Px? + gx + r = 0 , then the sum of the roots 20¢ and Zﬁ e
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‘If number of elements in Set A is 3 and in Set B is 4, then the number of elements
in AxB is ¢ ) 7 (D) 12 Q) 4 (B) 3 (A) !
j: The most frequent occurring observation in a Data is called ?JU{ “ dhi.ﬁ_.‘-‘/u_l,)c_.__./u.‘. iy :
: Mode ok (D) Geometric Mean JVJ’U'A_:G] (C) Harmonic Mean Jml_ﬁfﬂ (B) Median k-3 (A)
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Lo Circle 75 (D) Radial Segment (v (C) Diameter F (B) Radius U (A) )
A line which has only one point in common with a circle is called : u.?z:..f ﬂJj-"ﬁ&.—Q.J/i\aﬁc_/’b l’fh:‘r..._fi (12) I
i Sine of a Circle Sine ¥ <./ (B) Tangent of a Circle  Tangent 71 (A) " !
IIIIIIIIIIIIIIIIIIIIII Secant of a Circle  Secant ¥ <.y (D) Cosine of a Circle Cosine § <71 (C) ;
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A Pair of Chords of a circle subtending two congruent central angles is : )
1 ' . : H
1 Parallel df?LF’ (D) Incongruent JU"/:.' (C) Over Lapping _)/l) (B) Congruent Jl.?‘ (A): !
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4 x + y3 + z3—-3xyz =(x +y +z)(x + wy +w22)(x+w2y + wz) - fg:v.t‘ (<)

Prove that 1 + y3 i gds 3xyz = (x +y + 2)(x + wy +W22)(x +W2)’+ wz )

Lol i WL LA T Ml S g - S -
[ . T il
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Solve the given Equation by Completing Square.' x2 + 1Ix * —342’- =0
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if =57~ C(a,b,c,d e, f5 0) then show that by pisn5

a 32 + n:2 + 82
"K" method : el R T Y
b b +d +f
(4) Resolve into Partial Fractions. —x-p ) _U__‘JU.’.‘{).".' ;/(5)2 ()

(x=4)(x=-3)

u={1,2,3,4,,10},A ={1,3,5,7,9} »B={1,4,7,20} Ji 0 10

) A-B = ANB’ Sy St In
fu={1,2,3,4,—,10},A ={1,3,57,9},8={1,4,7,10}

/7
.then prove that A-B = ANB

LA s S ()

(4) Find Standard Deviation " S " of :

12.,6,7,5,15,10:, 18,5
1+ Cos® Sin© §
(4) Prove that : ~Sin® T+ Cose - 2Cosec® S 4:-.;& ) 84

ST LIS (35 8 2 5L sotnl ST »

(4) Draw two common tangents to two touching circles of Radii 2+:5cm

and 3-5cm.
(8) : - by s ¢ B S ( w2 ) 7 L(:-J&’La_fb F $/..-./.E

Prove that A Straight Line drawn from the centre of a circle to bisect a

chord (which is not a diameter) is perpendicular to the chord.
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Prove that Any two angles in the same segment of a circle are equal.
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Solve the given Equation by Completing Square. x2 + 17x <+ '3;1 =0

@ < +y3 + 23-3xyz =(x +y +z)(x + wy +w22)(x+w2y +wz) : Jaet (L)

Prove that :x3+ y3 + 23—3xyz= (x +y + z)(_x+wy+w2z)(x +W2}"+ wz )
a c e .
(4) g:'f,b‘:..%.)é "K " ; (a,b,c,d,'e,f# 0) ? = —d—“ :T )" () 6/’.{)"’
5 _J 2,2,2
b b2+ d? + £2

_a_= _F_..:i( ) . s
r 3 q ¢ a,b,c,d,e, f3F 0) then show that by uisng
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"K" method : —— = \l—az—gz——e-z-
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(4) Resolve into Partial Fractions. e TN o ...U:/U:‘{}'.' ;/d,z ()

(x= 4)(x~3)

u={1,2,3,4,—-,10 } , A ={1,3,5,7,9} 5B ={1,4,7,10} S1 n 7140

) A-B = ANB’ Syt In ,
fU={1,2,3,4,-— \10QA4 A ={1.3,5,7,9} ,B={1,4,7,10}

‘then prove thatt A-B = ANB

(4) Find Standard Deviation " S " of : _(,{')’(.J"' "s" Jy;i(jz.l,v («)
12,6,7,3,15,10,18,5
. 1 + CosB Sin®© .
(4) Prove that : Sin® 1+ Cos® ~ 2Cosec® I&ﬁ:v.& ) 84y

-%UJ}%}LULQ{(&S»I 'd Z-SJIJJLLJ:}':LHZ./U’: » (L)
(4) Draw two common tangents to two touching circles of Radii 2:5cm -
and 3-5cm. i
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Prove that A Straight Line drawn from the centre of a circle to bisect a
chord (which is not a diameter) is perpendicular to the chord.
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Prove that Any two angles in the same segment of a circle are equal
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i Note : Four possible choices A, B,C, D to each question are given. Which choice is correct , fill that circle in front of that question :

] number. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that question. i
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:_@Two Linear Factors of x~ - 15x + 56 are uj;}gﬁn\.f 0w L x"-15x+56 1 Ay :

¥ : i

v (x-8) and »f (x +7) (B) (x +8) and » (x - 7) (A) (1) !
' i

!5 (x +8) and 4l (x +7) (D) (x-8) andsl (x -7) (C) E

1 - e B b e N N S ¥ B R iy !}

t ¢ss XPB ;'um.;.ué 7x% - x + 4 = 0/l ’3 oK Sl (2) !

{ 1f o, B are the roots of equation 7%2 - x + 4 =0 , then B : i

: L

-4 7 4 =14 i

oD =@ 5’ @ I

: o : 3 - : N g )

The Discriminant of equation ax +bx+c =0 is &-tr O/ ¥ ax® + bx + ¢ =0 ....uv 3 i

b%- dac (D) -b>+dac (C) b+dac  (B) b% - dac  (A) : 3

1 - 2 ! i

If y2 iy then : ' D yT R AL @ 1

2 K X

y=73 O y- K @ Y= ® Y=g @ e. E

{If ——=-— =K , then ; S-Y g A0 ;

w=vK (D) u=wik (O u=vik: (B u=wk® (A) ¥

{x+3}2=x2+6x+9isaum—v——-: . .Q{x+3}2=x2+6x +9 (6) :

An Equation =bl (B) A Linear Equation =hisGist (A) ' |y

|

Standard Equation =blslls (D) An Identlty =L (C 1
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' Finite Set <r(t3 (D) Null Set syl (C) Subset _.wu? (B) Inf:mte Set 2rtF (A : X

s R e s i

| Power Set of an Empty Set is i gbnlral € code o 8 :

i1

e} o {6.{) © {6} ®» 6 @ | k

. EThe most frequent occurring observatlon in a Data Setis called : Ldlhf dbl..l;/vt)._.../u' sl L}'f 9y - :’

Arlthmehc Mean Lrsf(,}l? (D) Harmonic Mean Jw*-ﬁ‘ff (C) Median 2lb-s (B) Mode sl (A) ':. :

3 N L

__ Tﬁ Radian = 30° (D) 150° © 135° ®)  115° (a)y = oL 1

_ N5 i

‘A Complete Circle is divided into : g q_rlgi.[(:f s L_;ud"’ R

360° () 270° (© 180° (B 90° (A) !

..................... RER SR e SR B - '!

A Cm.le has only one ebrt e F LIS K o I (12)

Diameter J (D) Centre J7 (C) Chord 7 (B) Secant 6 (A) _ : i

7 erd!:¢v£u¢:lfdww/ wtesh L (13)

‘The Arcs opposite to incongruent central angles of a circle are always -----m--- ;

Perpendicular 2F (D) Parallel $i1# (C) Incongruent Jh"f’ (B) Congruent J’lf‘ (A) i :

{How many common tangents can be drawn for two touching circles : wéb.«_uav_f,/zfﬁum.-;ﬁ_fw » (14) :

3 @ 4 (© 2 (B 1 (A ¥
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:The measure of the external angles of a regular Octagon is : g.dmiw&)g;bdspﬁgf?ﬂif (15) :
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Note : It is compulsory to attempt (6-6) parts each from Q.No.2,3and 4. Attempt any (03) questions from Past Il

while Q.No.9 is compulsory. Write same,Question NQ.and its Part No. as given in the qulstion paper.
Bw > /o —2 -/ W ’
36=2x18 [Make diagram where necessary. ..Vflb:u"'fxd»ﬁubgl J,]_;) GM (f“.’/
What is meant by Quadratic Equation? ?4...:1/?’:. =sbefss 22 (i) 2/
Solve. x2- x=20=20 -L[;J’ (ii)
Find the Discriminant of 2% 7x +1=0 _Q/((.J"‘ui'f&/.’ K 22-7x +1= 0 (iii)

gt AL g UL IS Sk ()

Prove that the product of Three Cube Roots of Unity is one.

Define Simultaneous Equations. _qf.éfﬂfu?lxv:fﬁ (v)
Evaluate. (2 + 2w = ZW2 W3 =~ 3w + 3w2} _uf/]/':"’c;.f (vi)
Find a Third Proportional to 28,4. LA U1 K 28,4 (il
Define Ratio with one example. -L{JL{UVA{I sl L{f..gﬂf = (vii)
Find "x ". 3x -2:4::2x +3: 7 -.-u_’/?)“.:-f{f' x " (ix)
Define Fraction -2;‘-(-.‘:'/7 J/( (i) 3/-jtjb"
Resolve into Partial Fractions. L -éﬁUﬂl’:ﬁ Us /67 (i)
(x+1)(x~3)
Define Union of Sets. Sy Lot iy

_%P XNY 7Y={2,4,59} s x={1,4,7,9} i
if X=9{1,4,7,9} and Y= {2,4,5,9}, then find XN Y.
_a}/p‘v X=Y 7Y={4,8,12,—, 20}  x={2,4,6,—,20} S

if X = {2,4,6,—,20} and Y = {4,8,12,——,24} then find X~ Y.

-4?.4" BxA » AxB 7 B = {C,d} »l A = {a,b} )’i(vi)
if A=1{a,b} and B= {c,d} then find A x B and B x A.
Define Arithmetic Mean. -@:.9/3 Jlrsldl? (vii)

: afn)'bfﬁicmé.r"_‘)tb.&;:é&uﬁséﬁ; (viii)
LI Lty 82,93,86,92 s 79
On 5Sterms test in Mathematics, a student has made marks of 82,93,86,92 and 79.
Find the Median of the Marks.
Find the Modal Size of Shoes for the following data : -aﬁFPuua.ud’;lw@_w;;wfa/wd’u}x Sz (ix)
4,4,5,5,6,6,6,7,7,5,7,5,8,8,8,6,5,6,5,7

Define Degree Measure of an Angle. —4:-.-'_'/1}:6/;5 L.{._.;:U 0 440
2 P (* ¥ N 2
EXPIESS ""5}3 Radian to Degree. "‘i’ﬁukﬁdﬁf c{)_'.»‘ ——-,3—-‘ (i)
Find " © " when 1 =2cm and r = 3.5cm 1 =2 sr = 3.5 .ﬁé?ﬁ' ve (W)
Define Obtuse Angle. -afe.(.»;/" S a2 (iv)
Define Collinear Points. _Q/-.Q/:JH‘E:B(? (v)
Define Tangent of a Circle. -g{/r-é‘/’ J JV i (vi)
Define Sector of a Circle. -LZ;-J.'.’/'.I J/’é Zoibs (vii)
Define Cyclic Quadrilateral. -4.(_43/' S S L (il
Define Inscribed Circle. ..éf(.ijj:"Ju’bu‘; (ix)
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() -g&a._gjb;’fﬁ UrsbGss 3 f 6xF -3 - Tx = 0 ik () 57
Solve the equation 6x?-3-7x = 0 by using Quadratic Formula,

2 2
) _z;,iF}V._-..EJ > B Pu.nu%;é &2 -5+ 6= 0 bl B, oK A £
B :

If o, B are th(ze Rc-ots2 of ottle equation 4x2 =5 + 6 = 0 then find the F
value of — + ‘p_ I
P |

@ &Ag;,,c_%)é K ) (a,b,c,d F0) a:b=c:d f 6;‘Uiri
4a -9 _ 4c -9d E

42+ 9 " 4c+od i

If a:b =c¢:d (a,b,c,d#ﬂ) then show that by uisng " K" method :

4a - 9b _ 4c - 9d
4a + 9b 4c + 9d
; i 2 7x +
(4) Resolve into Partial Fractions. & ..u_’)v-’-l’, 8 o J/d:)! ()

(3x+2)(x+1)2
U={1,2,3,4,5,6,7,8,9,10} , A ={1,3,5,7,9} w B = {2,3,5,7} S 1y
7/
@) (AUB) = Ans Sy St

¥ U={1,2,3,4,5,6,7,8,9,10} , A ={1,3,5,7,9},B ={2,3,5,7}
Fa
then verify that (AUB) = A NB
L s Sl )

(4) Find the Standard Deviation " § "
12,6,7,3,15,10,18,5
(4) Verify that SecB - Cos® = tanBOSinO fu{/u:ri‘ I 3,-,{);,

@ Ut 3 35 ZAUEUS CA 4 BC, AB UL UIE b ¥ ABC &b (L)

Inscribe a Circle in a Triangle ABC with sides

|AB|= 5cm,|BC| = 3cm, |[CAl= 3cm

8) -LUNJ*‘GJ'LS!L*‘L-)//M;UMJG‘}J e b ﬁ J ?T:r_b 9/,‘Ulr .

Prove.that if two chords of a circle are congruent then they will be
equidistant from the centre.
OrR W
_q_t‘nL:-';Jc.é‘...sib:"z.n/ﬁld}‘ﬁh"/dfpﬂzlﬁ'g:ljd}?ﬂb&c.a,éddiuﬁgfbU/ ¥ 4::«:&
Prove that the measure of Central Angle of a minor arc of a circle is

double that of angle subtended by the corresponding major arc,




